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QUESTION 1

A business is demanding faster IT services turnaround from its IT groups. The current lead time between request and
delivery is three weeks for a task that would take a competitor two days. An architect is asked to develop a solution to
reduce the lead time of the request while ensuring adherence to the company policies. Which of the following is the
BEST approach to achieve the stated objective? 

A. Document the desired state, complete a root cause analysis, and execute the flow. 

B. Revise the schedule, implement a waterfall methodology, and flatten the network. 

C. Identify deficiencies, optimize change management, and automate the workflow. 

D. Follow the company policies, execute the flow, and document results. 

Correct Answer: A 

 

QUESTION 2

A company provides IaaS services. Which of the following disk provisioning models for creating standard template
should the company use to provision virtual instances? 

A. Thin disk 

B. SCSI disk 

C. SATA disk 

D. Thick disk 

Correct Answer: A 

 

QUESTION 3

A customer has indicated that bi-weekly full backups are taking too long to complete. 

Which of the following would be the BEST action if minimizing restore time is very important to the customer? 

A. Change the backup to synthetic full backups. 

B. Change the second full backup in a week to incremental. 

C. Change the second full backup in a week to differential. 

D. Change the schedule of full backups to start earlier. 

Correct Answer: B 

 

QUESTION 4
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A CSA needs to migrate 200TB of on-premises SAN data to a private cloud located in the same region. Which of the
following should the CSA analyze? (Choose two.) 

A. VPN restrictions 

B. DNS settings 

C. Network bandwidth 

D. SSO settings 

E. Maintenance windows 

F. Legal restrictions 

Correct Answer: CE 

 

QUESTION 5

A company wants to set up a new department using private cloud resources. The new department needs access to
sales and financial data, but it should be prohibited from accessing human resources data. Which of the following is the
BEST option to configure on the virtual (software-defined) network to meet these requirements? 

A. VSAN 

B. VLAN 

C. GRE 

D. VPN 

Correct Answer: B 
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